World Geography 3202 Grading Standards
June 2006

PRE-MARKING APPRAISAL

The exam was considered to be fair and representative of the curriculum outcomes. The length
was reasonable and it required students to analyze information from the Constructed Response
Questions (CRQ’s) and provide geographical knowledge to support their answers.

The Selected Response Questions from Part [ were examined first. After discussion it was
determined that some selected-response questions had more than one arguably correct answer.
For question #27, answers B and C were accepted; In Question #31, answers A, B and D were
accepted; and for Question # 42, answers A and B were accepted.

The Constructed Response Questions from Part II were discussed. No issues were raised
concerning Part II.

COMMENTARY ON RESPONSE

Generally, the board felt that many students listed rather than explained their answers. Students
did not use the case study material to properly support their answers or simply tried to lift

information from the case studies without using their own supporting geographical knowledge.

Question #59 was poorly done with many students omitting the question or confusing catch
technology with oil recovery technology.

Question #60 was not attempted by a high percentage of students or answers were incomplete.

Students seemed to misinterpret Question #68. Instead of answering the question, many students
gave information supporting one side or the other, but not both as the question asked.

In Question #69 students again looked at one side of the issue, but not both.

Question #71 refers to site and situation. Many students confused the two concepts or focused the
answer on one or the other.

Question #72 was not well done. Students did not reference the case study or referenced it in
general terms.
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PART 11
Section A
Total Value: 8%

Instructions: Complete All Questions in Part 11, Section A.

Value
4%

59.

Explain the impact of any two types of new catch technologies on the ocean
environment.

Marking/ Grading Key:

0.5 marks for listing each type
1.5 marks for explaining each type

Possible answers:
» factory-freezer trawlers

* sonar
* modern scallop drags
« G.PS.

» Dbigger nets (e.g.: otter trawls)
» gill nets with invisible netting and ghost fishing

Commentary on Response:

Although this was not perceived to be a difficult question, it was not completed as
well as expected.

Students:

* explained damage without naming technology.

» named technology with no explanation.

* named a technology but were confused about the damage, (e.g.: they named a
technology and explained the damage caused by a different technology).

» discussed about oil rigs and aquaculture.

» discussed “old types” of catch technology.
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Exemplars: (Excellent and Good)

Value
4% 59, Explain the impact of any two types of new catch technologies on the ocean
% environment.
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s 59. Explain the impact of any two types of new catch technologies on the ocean
environment.
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Z;luc 59 Explain the impact of any two types of new catch technologies on the ocean

environment.
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59, Explain the impact of any two types of new catch technologies on the ocean

environment.
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Value
4%

60.

Explain any two factors that affect the growth of the quaternary sector.
Marking/ Grading Key:

0.5 marks for each factor
1.5 marks for explanation of each factor

Answer Key:
Possible responses included:

* education / literacy levels in community and workforce
* capital investment

» wages - developed / developing countries

» level of development / industrialization

* needs / wants of society for things driven by technology
* population - jobs, money, demand, migration

» availability of technology

» government policy and funding

*  “Leap Frog” Theory - skip sectors to go to quaternary

* infrastructure requirements

» effects of activity in other sectors, mainly tertiary

» technology

» competition / market

» explanation of quaternary sector

Commentary on Response:

When the question was answered it was generally done well, however, a
significant percentage of students did not attempt the question at all and many
had incomplete responses.

Students:

» discussed minor points unrelated to the question.

» listed factors with no explanation.

» discussed points about ecosystems, other economic sectors, the fishery,
immigration/emigration, birth/death rates. In other words, topics not related
the question.
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Exemplars: (Excellent and Good)
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4% 60. Explain any two factors that affect the growth of the quaternary sector.
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Either:

SECTION B

Do only ONE of the Units in Section B

Unit 6 - Population Distribution and Growth
Unit 7 - Settlement and Urbanization

Unit 6 - Population Distribution and Growth

4%

61.

Briefly describe two factors that affect birth rates and two factors that affect death

rates.

Marking/Grading Key:

2 marks for birth rates - 1 mark for listing factors, 1 mark for explanation
2 marks for death rates - 1 mark for listing factors, 1 mark for explanation

Answer Key:

Birth Rates

Death Rates

Health Issues

Education / Sex Education
Level of Service

Access to Territory

Birth Control Methods / Practices

Religion / Cultural Beliefs
Family Lifestyles

Women in the Workforce
Standard of Living

High / Low GNP
Demographics (Size, Gender)
Government Regulations
Financial / Money Issues

Developed vs. Developing Nations

Family Planning Strategies
Modern / Traditional Customs
“Baby Boomers”

Infant Morality Rate

Students:

» listed key points without an explanation.
» discussed either birth or death rates.

Health

Education

Level of Development
Access to Service

Good Doctors (Availability)
Disease (Prevention / Spread)
Sanitary Conditions
Lifestyles

Population Size
Demographics

War

Famine

Nutrition / Food
Technology

Developed vs. Developing
High / Low GNP
Technology

Natural Disasters

» described birth or death rates from one perspective.

8
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Exemplars: (Excellent and Good)

Valr
4% \ 61.  Briefly describe two factors that affect birth rates and two factors that affect death
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Value

4%

61. Briefly describe two factors that affect birth rates and two factors that affect death

rates.
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Unit 7 - Settlement and Urbanization

4%

62.

Describe two factors that contribute to the creation of a high density urban area.

Marking/ Grading Key:

0.5 marks for listing each factor
1.5 marks for each explanation

Answer Key:

- Employment / Job Opportunities
- Services

- Resources

- Climate

- Educational Opportunity

- Money

Students:

- Infrastructure

- Limited Rural Resources
- Cost of Living

- Geographic Location

- Preferred Lifestyle

- High/Low GNP

» listed factors without explanation.
» did not answer the question asked, they talked about reasons not to move to

urban settings.

» used general terms without explanation.

11

World Geography 3202 Grading Standards June 2006



Exemplars: (Excellent and Good)

Value
4% 62. Describe two factors that confribute to the creation of a high density urban area.
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/IM 62.  Describe two factors that contribute to the creation of a high density urban area.
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PART II, SECTION C

Instructions: Part I1, Section C consists of two case studies. Do ALL questions in this

section.
Case Study 1
Units 1 -5
Value
4% 63. Using the case study and your geographical knowledge, describe two ways

climatic conditions affect human activity.
Marking/ Grading Key:

Students needed to discuss both potential hazards (problems) with climatic
conditions and potential benefits.

1 mark was given for each listed response
1 mark was given for each explanation

Answer Key:
Possible responses included:

Negative influences . . .

* huge damage to tourism sector

* loss of human life

* loss of personal property / expense in rebuilding

* severe agricultural damage / income loss from the primary sector
» resulting disease, malnutrition, starvation

* increased out migration

* destruction of linkages (transport & communication)

* increased costs for property owners (insurance)

» displacement of citizens

Positive influences . . .

* potential recreational and leisure activities

» preparedness level of people

* improved building codes

» volunteer organizations developed

* tourism pockets (strong economies)

» agricultural pockets (climate supporting certain industries)
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Students:

» showed a lack of geographical knowledge.

» failed to link ideas to case study.

» listed without any explanation or cited directly from case study without any
explanation.

» confused the concepts of weather and climate.

» focused only on leisure and recreation.
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Exemplars: (Excellent and Good)

Value

4% 63. Using the case study and your geographical knowledge, describe two ways
climatic conditions affect human activity.
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Value
4% 63.  Using the case study and your geographical knowledge, describe two ways
climatic conditions affect human activity.
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Value

4% 63. Using the case study and your geographical knowledge, describe two ways
climatic conditions affect human activity.
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Value
4% 64. With reference to the case study and your geographical knowledge, explain two
ways humans respond to hazards posed by selected land forms and water forms.

Marking/ Grading Key:

1 marks for each listed response
1 marks for each explanation

Answer Key:

Positive responses included such things as, but were not limited to, movement,
evacuation, warning systems, relief aid, improved building codes and insurance.

Negatives responses included such things as emotional collapse and panic, along
with an increase in crime (e.g.: looting)

Students:

* gave “two” acceptable answers but did not give any support from the case
study. They concentrated on their own geographical knowledge and
experiences. (e.g.: Sea-walls in Placentia / Moving away from the river in
Badger.)

» mistakenly focused on the impact of the level of development experienced in
the countries mentioned in the case study. This concept was covered in
Question #65.
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Exemplars: (Excellent and Good)

Value

4% 64, Using the case study and your geographical knowledge, explain two ways humans
respond to hazards posed by selected land forms and water forms.
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Value
4% 64. Using the case study and your geographical knowledge, explain two ways humans

respond to hazards posed by selected land forms and water forms.
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Value
4% 64. Using the case study and your geographical knowledge, explain two ways humans
respond to hazards posed by selected land forms and water forms.
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64. Using the case study and your geographical knowledge, explain two ways humans

respond to hazards posed by selected land forms and water forms.
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Value
6%

65.

As a climatologist with an expertise in hurricanes, you will give a report to three
major news networks on Hurricane Jeanne and Floyd. Using the case study and
your geographical knowledge, suggest three reasons why the number of lives lost
were different in each case.

Marking/ Grading Key:

6 marks for 3 well explained reasons
1 mark for each reason given
1 mark for each explanation

Answer Key:

The three reasons had to come from the following list:

* Level of preparation for large storms; early warnings -U.S. was better prepared
than the D.R..

* Level of development of the countries; support systems available after the
disaster including - relief aid, medical, construction phase, government help,
quality of house and infrastructure construction (U.S. vs. D.R.).

» Transportation availability for evacuations; money for preparation materials.

* Pre-existing problems of poverty, hunger, and disease made worse by the
hurricanes.

» Lack of food and shelter immediately after the hurricane; early evacuations.

Students:

» listed reasons with no explanation.

» assumed that a category 2 storm was stronger then a category 4 storm.

* made no reference to the case study.

* summarized the case study in their answer without answering the question.

» focused on the physical features of the areas involved instead of
developmental features.

» focused on the location of the hurricanes as opposed to the development of the
region.
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Exemplars: (Excellent and Good)

Value

6% 65. As a climatologist with an expertise in hurricanes, you will give a report to three
major news networks on Hurricane Jeanne and Floyd. Using the case study and
your geographical knowledge, suggest three reasons why the number of lives lost
were different in each case. "
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Value

6% 05.  Asaclimatologist with an expertise in hurricanes, you will give a report to three
major news networks on Hurricane Jeanne and Floyd. Using the case study and
your geographical knowledge, suggest three reasons why the number of lives lost
were different in each case.
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Value
6% 65. As a climatologist with an expertise in hurricanes, you will give a report to three

major news networks on Hurricane Jeanne and Floyd. Using the case study and
your geographical knowledge, suggest three reasons why the number of lives lost
were different in each case.
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Value

6% 65.  As aclimatologist with an expertise in hurricanes, you will give a report to three
major news networks on Hurricane Jeanne and Floyd. Using the case study and
your geographical knowledge, suggest three reasons why the number of lives lost
were different in each case.
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Case Study 2

Units 1 -5

Value
4%

66.

“The trace amounts of toxins found in eggs of turtles could potentially impact
other members of the food web in this ecosystem.” Using the case study and your
geographical knowledge, explain this statement.

Marking/ Grading Key:

2 marks given for fully explaining Biological Amplification
2 marks for making specific references to the case study

Answer Key:

» explain Biological Amplification

» discuss how toxins are passed on through food web. For example, turtle eggs
had toxin that was consumed by crows and then by coyotes. Crows have to
eat many turtles to get energy and coyotes have to consume many crows.
Coyotes will have toxins from both that crows and turtles. Also these toxins
may be passed on to humans.

Students:

» did not use geographical knowledge or reference the term Biological
Amplification.

» did not refer to the case study to back up their answer.

* knew what was happening (passing on/build up of toxins), however, this
geographical knowledge was not combined with case study information.
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Exemplars :(Excellent and Good)

Value

4% 66.  “The trace amounts of toxins found in eggs of turtles could potentially impact
other members of the food web in this ecosystem.” Using the case study and your
geographical knowledge, explain this statement.
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“The trace amounts of toxins found in eggs of TLIII]L% could potentially impact
other members of the food web in this ecosystem.” Using the case study and your
| geographical knowledge, explain this statement.
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Value
4%

66.  “The trace amounts of toxins found in eggs of turtles could potentially impact
other members of the food web in this ecosystem.” Using the case study and your

geographical knowledge, explain this statement.
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Value
4% 66.  “The trace amounts of toxins found in eggs of turtles could potentially impact
other members of the food web in this ecosystem.” Using the case study and your
geographical knowledge, explain this statement.
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Value
4%

67. Using the case study and your geographical knowledge, briefly explain one short-

term and one long-term impact on the wetlands if development continues.
Marking/Grading Key:

1 mark for listing each impact
1 mark for explaining each impact

Answer Key:

Short-term
* loss of mates, loss of food for turtles, loss of natural beauty and integrity,
impact of toxins, loss of ecosystem due to construction

Long-term
* extinction of species, destruction of habitat, forced to relocate

It should be noted that there could be an overlap in short-term and long-term
responses. (e.g.: forced to relocate would be long-term if turtles cannot come back
to the wetlands and short-term if students point out it is a temporary thing.)

* The destruction of ecosystem could also be a long-term impact if students
point out that the loss is permanent and results in long-term impacts which can
lead to changes in food chains and food webs.

Students:

» are not referring to case study to expand on response.
» did not give full explanation.
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Exemplars: (Excellent and Good)

Value
4% 67. Using the case study and your geographical knowledge, briefly explain one short-
| = term and one long-term impact on the wetlands if development continues.
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Value
4% % Using the case study and your geographical knowledge, briefly explain one short-
term and one long-term impact on the wetlands if development continues.
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Value
4% 67.  Using the case study and your geographical knowledge, briefly explain one short-
term and one long-term impact on the wetlands if development continues.
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Value

4% 67. Using the case study and your geographical knowledge, briefly explain one short-

term and one long-term impact on the wetlands if development continues.
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Value
6% 68. “Economic development sometimes comes at the expense of wetland
conservation.” You are asked to propose a plan that would ensure both economic
development and wetland conservation. Using the case study and your
geographical knowledge, explain two ways in which you would accomplish this.

Marking/ Grading Key:

6 marks for linking economic development and wetland conservation and
explaining two ways to accomplish this.

A maximum of 3 marks for listing ways to conserve wetlands or to economically
develop wetlands.

Answer key:

» develop wetlands as a protected site and as a tourist attraction

» Dbetter land usage planning (business and development to enhance ecological
concerns)

* public awareness of the habitat surrounding the residential area ( e.g.: in the
case study)

« government could institute structural controls on wetland development

» controls on land development

Students:

» did not propose a plan that covered both economic development and wetland
conservation.

* did not link economic development to wetland conservation. Instead they
tended to list ideas for wetland conservation only.
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Exemplars: (Excellent and Good)

Value
L/s% 68. “Economic development sometimes comes at the expense of wetland
conservation.” You are asked to propose a plan that would ensure both economic
development and wetland conservation. Using the case study and your
geographical knowledge, explain two ways in which you would accomplish this.
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Value

6% 68.

‘Economic development sometimes comes at the expense of wetland

((;onservallon. " You are asked to propose a plan that would ensure both economic
evelopment and wetland conservation, Using the case study and your

geographical knowledge, explain two ways in which you would accomplish this. /
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Value

6% 68.  “Economic development sometimes comes at the expense of wetland
conservation.” You are asked to propose a plan that would ensure both economic
development and wetland conservation. Using the case study and your
geographical knowledge, explain two ways in which you would accomplish this.
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68.  “Economic development sometimes comes at the expense of wetland
conservation.” You are asked to propose a plan that would ensure both economic
development and wetland conservation. Using the case study and your
geographical knowledge, explain two ways in which you would accomplish this.
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SECTION D

Do only ONE of the Units in Section D. Note: Both Units use Case Study 3 below.

Either: Unit 6 - Population Distribution and Growth

Case Study 3

Unit 7 - Settlement and Urbanization

Unit 6 - Population Distribution and Growth

Value
4%

69. With reference to the case study and your geographical knowledge, explain why,
in recent years, the rate of population growth in the favelas is greater than the rate
of population growth in the city of Rio de Janeiro.

Marking/ Grading Key:

2 marks for commenting on population growth in favelas compared to the city
2 marks for explanation

Answer Key:
Any two of the following:

Rural - Urban Migration

People move from the countryside to the city to find work mostly due to a lack
of employment, money and land. They moved to the cities and choose favelas
due to the high cost of land in the inner city as opposed to the favelas on the
periphery of Rio de Janeiro.

Modernization

The inner city has drawn people because of industry, etc and therefore created
a disparity between the wealth of groups in that area as opposed to outlying
regions . When low cost housing is destroyed for expansion, the poor are
forced out into the favelas.

Education

Lack of education to find jobs and lack of education about birth control makes
it difficult to get out of the favelas. Therefore the birth rate increases. The
inner core occupants are more educated and get the better jobs thus reducing
the birth rate through better birth control, and often, with both members in a
relationship working.
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Any combination of the above responses were accepted as long as one or both
responses dealt with the inner core reducing its growth rate while those in the
favelas increased.

Any one of the above responses combined with a general knowledge response was
also accepted.

Also,

» Lack of money for birth control

* Families becoming large to help in the workforce compared to remaining
small in developed areas

» Birth Rate and Death Rate comparison

Students:

* made an attempt to explain one item and most often did not compare growth
rates.

» students confused internal migration with immigration.

» students did not explain points they took from the case study. They simply
took sentences from the case study.
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Exemplars: (Excellent and Good)

Value
1% 69.  With reference to the case study and your geographical knowledge, explain why,

in recent years, the rate of population growth in the favelas is greater than the rate
of population growth in the city of Rio de Janeiro.
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Unit 6 - Population Distribution and Growth

Value

% 69.  Withreference to the case study and your geographical knowledge, explain why,
in recent years, the rate of population growth in the favelas is greater than the rate
of population growth in the city of Rio de Janeiro.
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g

Value

4% 69.

With reference to the case study and your geographical knowledge, explain why,
in recent years, the rate of population growth in the favelas is greater than the rate

of population growth in the city of Rio de Janeiro.
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Value
4% 69. With reference to the case study and your geographical knowledge, explain why,

in recent years, the rate of population growth in the favelas is greater than the rate
of population growth in the city of Rio de Janeiro.
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Value
6% 70. You are a government official responsible for dealing with the uncontrolled
growth of favelas. What are three possible solutions that would solve the
problems created by rapid growth of favelas?

Marking/ Grading Key:

1 mark for each reason
1 mark for explanation

Answer Key:

* improve education: learn about birth control, etc. and increase job prospects,
to bring population numbers down

» improve facilities: water/sewer/infrastructure

* government housing projects

* government intervention on crime

» zoning regulations - force people to live in certain areas

* population control

» stricter immigration rules

* increase jobs / employment / wages

» extend city boundaries

Students:

» gave simple responses with little explanation.

» seemed confused with the question and tried to solve the problem of a rapid
growth rate rather than problems created by the rapid growth of the favelas.

* had problems understanding what the favelas were.

* didn’t know Rio De Janeiro and favelas were in the same country and talked
about international immigration.

41 world Geography 3202 Grading Standards June 2006



Exemplars: (Excellent and Good)

Value

6% 70. You are a government official responsible for dealing with the uncontrolled
growth of favelas. What are three possible solutions that would solve the
problems created by rapid growth of favelas?
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Value
6% 70.  You are a government official responsible for dealing with the uncontrolled

growth of favelas. What are three possible solutions that would solve the
problems created by rapid growth of favelas?
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Value

6% 70. You are a government official responsible for dealing with the uncontrolled
growth of favelas. What are three possible solutions that would solve the
problems created by rapid growth of favelas?

Poambls  aolutions o decnzaoe the m/ma,(,o/ anowt

naleo wn  the H@ea,wﬂﬂn CV\_(L thokl e oo iJ’L;L

/%Manmpﬂif LOLL()A e J}-l/\“U'\ Cx.r‘r’\:tflo..p uriaes ool

/ ancilale  and Qé)cmgl,@/}—eo ter  thepe %ﬂmwm

dafunathxn weee worlel  need i welipnts them

Uit Wu/n,? The LIJQ/Le/rm)j);rmo u/nm ot dcormung
U

uwafrmrd“ and \Mhma themnm  oes.  ou +m wdd)
d:emﬁt Wm thio by Ut L/O‘Cmo lmxﬂd e

i u‘)/ui un hace o Qeus tneX \.&’\A:w-h W thoin

%@mﬁ‘mﬂm MMMJ@A te Wuﬂmm

viote - Qlpey \ﬁ-/r"l tha %ITUOUV‘: 1 Mcm theoe wiuglos

we  conld UQ/\/CWUV(LL uxwdum \aoarth  ao  Jdsetion

dnad b drwm “neny dom wdacodieon pon the

%

Lo e dAnen {'\(w:\j covlbd Wnore . J_Qgﬂ’ma Qnnede

Yo ule thon \Q/\k@\qﬁ(una Ur\m Jod \:U;n e
wll s .00 J\Iwc‘)é cur\d U\ps.,\ ena0d hnr?w

Value
6% 70.  You are a government official responsible for dealing with the uncontrolled

growth of favelas. What are three possible solutions that would solve the
problems created by rapid growth of favelas?
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Unit 7 - Settlement and Urbanization
4% 71. Identify one site and one situation feature of the city of Rio de Janeiro.
Marking/ Grading Key:

2 marks for site feature with explanation
2 marks for situation feature with explanation

Answer Key:

Site Feature: beaches
good climate
port site
granite mountains
resource / landscape oriented site

Situation Feature: located on marine traffic route linking NE/SE,
discovery of gold, diamonds.

Students:

» confused site and situation.

* re- wrote second paragraph of case study without further explanation.

» did not distinguish or explain which term they were referring to (site or
situation).
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Exemplars: (Excellent and Good)

Unit 7 - Settlement and Urbanization

Value

4% 71.  Identify one site and one situation feature of the city of Rio de Janeiro.
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Unit 7 - Settlement and Urbanization

Value

w 71, Identify one site and one situation feature of the city of Rio de Janeiro.
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Unit 7 - Settlement and Urbanization

Value

4% 71.  Identify one site and one situation feature of the city of Rio de Janeiro.
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Value
6%

72.

You are a town planner with the city of Rio de Janeiro. Using the case study and
quality of life indicators, describe three solutions to solve the problems currently
experienced in the favelas.

Marking/ Grading Key:

1 mark for identifying the solution
1 mark for describing the solution

Answer key:
The following are possible solutions:

* Improve educational attainment / opportunities given that in 1988, 17% of
poor did not have access to basic education infrastructure while only 5.1% of
non-poor lacked such access.

* Improve access to health care for the poor to help reduce infant mortality rates
and increase life expectancy.

* Introduce educational campaigns to increase public awareness of birth control
to help lower the birth rate.

» Through government initiatives - tax-break incentives, subsides, infrastructure
development, economic development in the favelas could be promoted. This
would increase the overall economy in the favelas which would equate to an
overall improvement in standards of living.

» For the favelas, government should invest in low income public housing that
is well constructed with water and sewer services. These houses should be
located away from areas of high environmental risk prone to flooding and
landslides.

* Increased investment in security and policing in the favelas to address gang
and drug problems. Emphasis could be place on community policing to
involve the residents in addressing these problems.

* Invest in youth programs and community centres to guide the youth of the
favelas.

Students:

» listed possible solutions with no detailed description.

* made no reference to the case study or to specific quality of life indicators.

* wrote most answers in very general terms, not demonstrating specific
geographical knowledge.
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Exemplars: (Excellent and Good)
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6% 72 You are a town planner with the city of Rio de Janeiro. Using the case study and

quality of life indicators, describe three solutions to solve the problems currently
Kexperienced in the favelas.
v

émn—%yww,&éﬂ/m
el Nt el clrtwkes '

“Page 27 of 27 & World Geography 3202 June 2006

49  world Geography 3202 Grading Standards June 2006



Value
6%

P2

experienced in the favelas.

You are a town planner with the city of Rio de Janeiro. Using the case study and
quality of life indicators, describe three solutions to solve the problems currently

—
Al AT D \ by \ ; L,
JNHEE SO Jm sole tne Dioblen CLiLienT eLience 11114
i ]
Laveles  ould e -
\ ; .‘H VamA =\ [ Y ’
) \E‘J(' L) W Some st the ANG 7 leyvelling WNe {1
N L S N ] )
b {eh] T 0 TR PP |
\(\\‘\(‘n Loyuld ’)o‘é\h( SOV (A he. olems Delalise | ) J-ﬁ
1
lpding  an and  dy

pisk ol

\

Ql\\\\’\\mz\\{‘ M}g

\ \ : | \ [ 4 1 o
would  be Mok !Fmﬁ SU!«‘CBUC L0 Hé,m/f?}:s?«" NGLLSE nich
) ¢
would  elimindle 4y Qioolen L The ! i (404}
i ‘ - J
) buld m \0re, ) fl” studard houses = mowe hich shondaed
T T - — ¥,
\A ! R
BNy d 1051 7
-

ol
LWt

:J'}'\EEC“} | -

}E)\lﬂ '%?u Dl (e

\\u wslng

Y Vandshde , ele,

Q\‘.”l?\l{)\? NG housts Ang
! J

\
e
%\i'\ (”‘ﬁv\‘ .

(nausDies

i N TR . N
J) })"x{%%é O vf AUy es N +Yhat A =1 Movc
\/\M/\/\_/\_/\,./"_./\-’V\/'“ ™ ™ it ™ Nt 0
erploument oppovtunities wheh

Hase ahe

could  Ing

\ “'"\ \ \\ 3
Would WO dhe, (e
\ o\ 0
gk veCaunse (A 278
J
l \‘ LU ‘C O‘{“\ \ 0. (O ol N ha (i i |y
J i i
3 | C fif) ! V /ik.i / 01 T Rolsing 1 [Yi) g -
i ] \) Y, (¥
f\\(f’ 00K Mool (O Mean ot hion o Py Qi £l
N f Page 27 of 27 World Gcography 3202 June 2006
AU A0 otier el

50 world Geography 3202 Grading Standards June 2006




WORLD GEOGRAPHY 3202

PART I - SECTION A

SELECTED - RESPONSE ITEM ANALYSIS

Responses
Item Answer A B C D
% % % %
This section covers Units 1, 2, 3, 6 and 10

1. D 8.4 8.7 4.4 78.4
2. A 64.4 13.3 9.3 12.7
3. C 2.3 8.7 72.3 16.6
4. A 56.4 26.6 4.2 12.7
5. A 69.1 13.1 8.2 9.5
6. C 8.6 1.9 86.0 3.4
7. C 20.2 23.2 52.7 3.6
8. B 1.2 90.7 5.4 2.7
9. B 22.6 33.9 13.3 29.9
10. C 23.6 24.6 28.9 22.8
11. C 18.0 21.3 44.0 16.6
12. C 4.4 0.7 92.9 2.0
13. A 67.2 20.6 8.1 3.8
14. C 53 6.3 84.7 3.7
15. D 3.5 19.1 3.6 73.8
16. C 20.8 0.5 75.8 2.9
17. A 87.0 3.5 5.4 3.9
18. C 9.6 11.2 75.6 3.6
19. D 33 0.6 4.1 91.9
20. B 39.4 21.5 17.4 21.6
21. A 73.0 14.2 6.2 6.5
22. D 443 8.1 5.5 42.1
23. C 5.0 23.4 62.0 9.4
24. C 8.7 1.6 57.1 32.4
25. A 71.2 7.3 6.2 15.2
26. C 6.4 8.8 76.7 8.1
27. B&C 18.0 41.4 26.4 14.2
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WORLD GEOGRAPHY 3202
PART I - SECTION A
SELECTED - RESPONSE ITEM ANALYSIS

Responses

Item Answer A B C D

% % % %
28. B 31.3 57.1 33 8.2
29. A 57.8 4.8 4.1 33.3
30. C 2.3 5.9 84.8 7.0
31. A,B,&D 10.2 6.8 3.4 79.6
32. C 15.4 13.4 39.9 31.0
33. D 9.3 46.1 11.5 33.0
34. A 56.0 11.1 21.7 11.0
35. B 21.3 53.6 12.0 13.0
36. B 30.0 41.6 16.4 11.7
37. D 3.8 34.2 2.9 58.9
38. C 47.0 5.9 43.1 39
39. B 26.3 34.8 14.8 24.0
40. C 9.5 4.6 78.9 6.9
41. D 1.9 1.7 9.4 86.8
42. A&B 37.9 49.9 10.0 1.9

SECTION B
Do only ONE of the Units in Section B
Either: Unit 6 - Population Distribution and Growth (43 - 50)
Or: Unit 7 - Settlement and Urbanization (51 - 58)

SECTION B: Unit 6 - Population Distribution and Growth

43. C 1.3 0.3 87.3 11.1
44. B 15.1 72.1 2.1 10.0
45. D 4.0 8.3 9.5 78.0
46. C 25.4 17.5 54.0 2.0
47. B 6.9 71.2 2.8 18.7
48. D 17.5 25.6 45.5 13.9
49. A 90.9 3.5 1.8 3.4
50. B 7.0 90 2.2 04
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WORLD GEOGRAPHY 3202
PART I - SECTION A
SELECTED RESPONSE ITEM ANALYSIS

Responses

Item Answer A B ¢ D

% % % %

SECTION B: Unit 7 - Settlement and Urbanization

51. D 10.9 3.5 3.2 82.4
52. D 8.0 14.4 0.5 77.1
53. D 4.5 4.5 14.6 76.3
54. B 7.2 89.6 1.9 1.3
55. A 72.9 10.6 14.1 2.4
56. D 8.2 14.9 35.9 40.7
57. D 12.8 1.9 1.1 84.0
58. B 19.4 40.2 28.7 10.9
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WORLD GEOGRAPHY 3202
PART II - SECTION A
SHORT AND CONSTRUCTED - RESPONSE ANSWERS
ITEM ANALYSIS

Item Students Completing Item Value Average

PART II - SECTION A - Do ALL questions in Part 11, Section A

59 3030 4 2.0

60 2361 4 2.0

SECTION B
Do only ONE of the Units in Section B
Either: Unit 6 - Population Distribution and Growth
Or: Unit 7 - Settlement and Urbanization

SECTION B: Unit 6 - Population Distribution and Growth

61 2361 4 2.6

SECTION B: Unit 7 - Settlement and Urbanization

62 231 4 2.9

PART II - SECTION C- Consists of two Case Studies. Do ALL questions in this section.

Case Study 1 - Units 1 -5

63 3030 4 2.7

64 3030 4 2.9

65 3030 6 4.5
Case Study 2 - Units 1 -5

66 3030 4 2.3

67 3030 4 2.0

68 3030 6 2.7

PART 11 - SECTION D - Do only ONE of the Units in Section D.
NOTE: Both Units use Case Study 3 below.
Either: Unit 6 - Population Distribution and Growth
Or: Unit 7 - Settlement and Urbanization

Unit 6 - Population Distribution and Growth

69 2361 4 1.9

70 2361 6 3.2
Unit 7 - Settlement and Urbanization

71 231 4 1.5

72 231 6 3.1
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